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PART A

The, temperatures in degree Fahrenheit at (5.
4: 00 p.m. for a one-week period in a certain
city are 47, 68, 58, 73, 42, 43, 68. How many
days are of greater temperature than mean
temperature ?
(a) 4
(b) 3
) 2
@ 1

J [}
X' eats 1/3 of an apple. His friend Y’ eats
3/4 of the remaining apple. What part of
the apple is left behind ?
(2) 1/2 6.
(b) 1/3
(c) 1/4
(D 1/6

If the product of four consecutive integers is
equal to one of the integers, then what is
the largest possible value of one of t
integers ?

{(a) -1

b 2 \

{c) 4 .

(d} None of the above

What.is X in the cév7, 13, 24, 45, X,

167 ? 8.
(a) 66
(b) 73
(c) 86
(d) 98

{2 - A)

What must be added to

to make it equal

toy? y
y+1 i

(a.), y-1
v-1

b A

(b) — )
2
+1

© 2
y n
2
-1

@ <
y

tidents take tea
¢ only. The number
tea and coffee is

Out of 320 students
and 80 students

of students whé take bo

equal to the numbep of students who take
neither t or coffée. What is the number of
studen alée hoth tea and coffee ?

(a)

{c
% None of the above.

How many pairs containing a man and a
woman can be formed out of 5 men and
5 worhen ?

(a) 30
(b 25
(e} 20
(d 10

Consider the following analogy :
If ‘Spoon’ is to ‘Fork’, then ‘Spade’ is to

{(a) Basket

(b) Scissors

(¢) Hoe
Sickle

(d)




1. 5 TR ¥ ve v & & & 6w 4.: 00 991
o @ 3l GREEE W 9 47, 68, 58, 73, 42,

43, ﬁsélmﬁqmwwﬁm’r‘%w

awer & ?
fa) 4
(b) 3
{c) 2
d 1

2, X u$ g & vo-fueE @ g | FEE iy 9y
T J7 o F-dlaE @ ¢ 1 9 & fea
e g @ & ?

(a) 1/2
b 1/3
(c) 1/4
@ 1/6

3. R 9R A Qi & PEGE I A Uh Qe
S TR &, a1 Eiel 4 ¥ o Qiis &1 g w9a
A d ?

(a) -1
b 2 \
{c)

(d) T P AE

4. BT, 13@ 67 A X aTE ?

(b)
(c) 86

(dy 98

0-DJT-MD-M-HB

HET A

%ﬁmm.‘m%ﬁyéwﬁM?

(a) y+1
y-1
y—1

b I

o) y+1
2

@ It
¥y

(d)

7 P e

(
%gﬁﬁsﬁisn%mﬁ%,easwsﬂwvasﬂf‘%w
T Tobey 3 &8 o Wda & ?

(a) 30
by 25
(cy 20
(d) 10

fermforfaa wgw w AR Sifwe

fe T & YA B (Bb) A §, A BEg &
e foedy & ?

(a) <y

(b) &A@

(¢) et

(d) R

3 -A)




10.

11.

Direction : For the next
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A bell rings every 18 seconds. A second bell
rings every 24 seconds and a third bell rings
every 32 seconds. If all the three bells ring at
the same time at 8 ¢’clock in the morning, at
what other time will they all ring together ?

(a) 12 : 40 hrs
(b) 12 :48 hrs
(¢c) 12:56 hrs
(d) 13 :04 hrs
By selling 10 oranges for ¥ 5, a man loses

25%. How many should he sell for T 5 to gain
25% ?

(a) 3 e
(b) 4
() b
@ 6

In & row ‘A’ is in the 110 position from the
left and ‘B’ is in the 10" position from the
right. If ‘A’ and ‘B’ interchange, then ‘A’
becomes 18 from the left. How many pers
are there in the row other than ‘A’ and ¢

(a) 25

) 26 %
(© 27 \
(d) . 28 ¢

items that follow :
There are six p ,B,C, D, E and F,

Ahas 31 than C.

D has 4 items less than B.
E has 6 items less than F.
C has 2 items more than E,

F has 3 items more than D.

12.

13,

15.

{4 -A)

Which one of the following cannot be equal to
the total number of items possessed by all the
six persons ?

(a) 41
(by a7
(c) 583
{d).. 58

Consider the following statements :

1. The total number of items possessed
by both A and E is equal to the total
number of items possessed by both
C and D.

2. The total number of
both A and C js_ e
number of ite

s possessed by
to the total
ssed by both

B and E.
Which of the ents is/are correct ?
(a) 1 only
(b} 2 only
(o [B ahd 2
( eithér 1 nor 2
difference in the number of items

sessed by a pair of persons is 1. How many
uch pairs of persons are possible ?

{a) 2
(b) 3
(c) 4
{d) None of the above

Consider the following statements :

1. The total number of items possessed by
B and D together is twice the number of
items possessed by A.

2.  The total number of items possessed by
E and F together is twice the number of
items possessed by D.

Which of the above statements is/are correct ?
{a) 1 only

(b) 2 only

(¢c) Both1land?2

(d) Neither 1 nor 2



- KE.

9. O 6 & I8 I3U8 R oo ¥ | oH g 6 &R
24 ¥&03 W 3R a0 98 R 32 JPvs W T
® | gl il a1 9l e & v  gew 8: 00
ol gotdl €, O g 6w g w4 Wi ve iy
Fa ?
(a) 12
by 12:
(c) 12:
(d) 13:

: 40 qoF
48 §a¥
56 o
04 §31

10. 10 9K @ T 5 ¥ g9 o< & =fts & 25% =iy
A g1 T 5 b I @ A R 25% oy
gnm ? .
{(a)
(b)
{c)
(d)

L= T ) B N oV

11, ofe F A o) ek ¥ 1d Rerfr o € sk B
e 3R 108 Rafr ¥ 1 ARk sk B v
geel o, a1 ‘A a1 3R ¥ 1847 farfa F & s @
ufts § ‘A’ 3R ‘B* & 3rcmmar b wfes & 2

N

L 4

{a) 25
(b) 26
(e} 27
(d) 28

et - 3y 37 a
B8 &t A, B, C, DN
AT UE CJ 3UH gl
DEITGBI4TFABAE |

EFTOFI6aA A E |

CHFIHES 20 =T & |
FHEUH DY 35 g |

& fore
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12.  FrfeRed F & a9- ve, wh vl i o
B Gt B e T R T T
{a) 41
(by 47
{e) 53
(d) 58

13. FmafaRed oo ) ar e -

1. AR EZF &y o O & o e,
C 3R D A1 & o & g & o7 T b

WER ¢ |

2. AR CIF & ww & MO o weT,
B 3k E 241 & a0 A T B
TR & |

Wﬁamwm@m

(a) ad 1

{b) &aT 2

) 1 RS
() 2

14. afesdl & URT B Tl @ I B 3R |
[ &5t U=t ey Shfsaf. wwa & 2
(by 3 .
¢ 4
(d) IR F F oS @

15. ﬁtﬂ%ﬁa.amqqﬁaﬂaﬁﬁm:

1. B3RDT o o A5 & o BN, AD
U B TS @ e B g R

2. E3RF & uw & A5 & g1 S@1, D&
U @1 Al @ = B G @ |

I0ges HeRl A A B A ToH w2
(a) &3 1
. (b) ad 2
(¢) 13R 2aF"
(d) JIar1, a2

{5 -A})



16. What is the time taken by a 240 m long train
running at 80 km/hr to cross a bridge 160 m

long ?

(a) 12 s
{(by 18s
{c) 30s
(d) 60s

17. A.sum of money doubles itself at a compound
interest in 12 years. The number of years it
will take to become eight times is

(a) 24
(b) 36
(c)y 42
(d) 48

18. What is X’ in the following table ?
3 11 9 5

9 2 1 10
- 5 6 X 4
(a). 15
(by 11
() 10
dy 7

19. Consider the following :
P is shorter than Q but taller than R.
S is shorter than P but taller than R.
Tis shorter than Q but taller than P.
Who is the shortest person ?

(a) P \
(b) Q

(& R *
(dy S

20. Which of the following figures¥Pom among A,
B, C, D, E combine a into each other to |23.
form an equilater iangle ?
A B C D E
(a} B,C,D
(b A,B,C
(¢ C,D,E
(& B,C,E
0-DJT-MD-M-HB (6 - A)

22,

21.

i

r

1}
How many rectangles (excluding squares)
are there in the following figure (each small
square is of 1 cm length) ?

(a) 22

{(b) 20

(¢) 18

(d) 16

Consider the followie :
A C)

9

iangle represents doctors; the circle
sents players; the rectangle represents

;ists. How many doctors are both players

and artists ?

@ 4
b) 3
© 8
@ 5

A number consists of 3 digits whose sum is
10. The middle number is equal to the sum
of the other two digits. The number will be
increased by 99 if its digits are reversed.
What is the number ?

(a) 370
(b) 253
(c) 406
@ 442 .




16.

17.

18.

19,

20.
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R 240 m ot 3T B, 3 80 /i o TWER ¥
el T 2, f5T 160 m &9 g &1 IR & & e
|q9g W ?

(a) 12s

(by 18s

(c) 30s

(d), 60s

DS EFRINT TPl a1 W 12 auf & g & e
¢ | 3% ORI D1 36 AT B & foe ot & e
&1 g ?

{a) 24

«(b) 36

(¢) 42

(d) 48

Frefofas aro & X aar & »

3 |lun]|lo9l|s
9 | 211 |10
5 | 6 | X | 4
(a) 15

b 1

(cy 10

d) 7

Frftieg R foar S -

PERI? QAT g RY |
S PIAfETEa e R |
TeRI 2 QA afeadar g PR |

itk E

(a} P
by Q
(e R
{d 8

ARV

(a)
(b)
(c)
(d)

(el =N-Ne

-

c:o;c»c::
He oW

fr=ifsa A, B, C, §
&{aﬁﬂmﬁﬁ‘ﬁ?{ Fﬂiaaﬂmﬁr?

21.

22.

23.

(7 -A)

freifa smefa & (7% g af 1 em dar & ) e
3mad (qoif IroE &) & ?

(a) 22
(b} 20
(c) 18
(dy 16

forifee sl w R

it s o 3 37 & fomrar aneeT 108 | e @
3 3= & 3BT B ANTHA P TN & | afe = &
37! @Y Iete fear =, o I 99 i & e |
9% T a9 ¢ ?

(a) 370
(b) 253
{c) 406

(dy 442



24, Which one of the following diagrams best [28. In SONAR, which one of the following waves
illustrates the relationship among the is used ?
following three items ? (a) Ultrasonic waves
Tall men, Black haired, Indians (b) Infrz.atsomc waves
(¢) Radio waves
(d) Micro waves
o (@
29. The duration of day is"the highest on
_ (a) Earth
(b) Mercury
(b O (¢) Venus
(d) Mars
30. When we see an object, the image formed on
the retina of our eye is
(c) (a) real and erect
(b) wvirtual and erect’
(¢} real and invesfed
(d) wvirtual and @
(d)
31. The gas usudlly filled in the electric bulb is
(a) Carbon digxifle
25. How many numbers are there between 100 gen
and 300 which either begin with or end with
27
(a) 109
(by 110 3 {hedharmful ozone in the troposphere -is
© 111 Ssociated with o
N he ab a) smog formed in cities
&Y one of the above (b) smoke of forest fire
26. Hot food is packed in shining alumini (c) late night fog
because (d) marshy land
(a) shining aluminium foil \ good 33. Mixed fertilizers are those that contain
absorber of heat
o o ) (a) wurea
(b} shining aluminium is a poor (b) ammonium sulphate
absorber of heat (¢) calcium dihydrogen phosphate
(c) shining alumimiu is a good (d) sodium nitrate
diator of heat
ra. T 9 SQ o 34. Which one of the following is nof an element ?
(d) shining _al@mi foil is a poor (a) Gold
radiator t (b) Brass
27. A person wh es exclusively on milk, egg (©) Cppper
and bread is likely to become a victim of (d) Tin
(a) Rickets 35. Which one of the following is a ‘true fruit’ ?
{b) Scurvy (a) Apple
(¢) Beri-Beri (b) Pear
€ en-ben (c) Banana
(d} None of the above (d) Fig
0-DJT-MD-M-HB ({8 - A)




24,

25.

26.

217.
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Preifisn amtall # 3 wi-a ve PrafiRad & wat
¥ d9 e P WP w9 W Ramr g ?
¥ s, B A @, sRda

.
® @ O
. &

2 IS U1 w8 At e et 100 3R
300 % Sr € ?

{a) 109

(b) 110

{c) 111

@ 39w § ¥ B T

@ e b R § de R s
¢, wife

(a) WP Uit ush FeT @
D &

(b) THSIl bgffae o= e
HIYD &

(c) N beffrm o=
&

3 S I , 311 3R 9 f wax
g &, ag foeg S & Rre & awar @ 2
(a) JE (Rde)

(b) wHar

() -

(A 3gs ¥ ¥ B T

28.

29,

30.

31.

32,

34.

35.

(9 -A)

SONAR #, frfafaa & ¥ a9 @ = smma &
FTE ?

(a) T a1

(b) 3EHE A

() sy a3

(d) &% &<l

& & w Ra & aafy swam & 2

(a) gt

(b) qu ,
() P

(d) wmE

59 w1 &0 oy @ d@d €, 9 gert sifE) &
gfcuea W & ufafe s & 2

(a) dRAfd® 3R Fedend

(b) 3TRY 3R Fedoist

(¢) arealdd 3R

(d) 3Ry 3k

feee S e o W
(a) ®RA I

A aet w2

@I M BT
AT BT DIET
d) Tm@ YW
faf3a 3w a9 38 &, ot
(a) gR@ &y &
(b) 3w Acpe dar &
(c) ftcwraw sEREsH widbe dar 2
) <f¥gw T @ @

feffaa i d s aos, da 7 ¢ 2
(a) =i

(b) Ot

(¢} TH

(d) g (=)

Freferiaa % & B 0 vo “arafis wa @ 2
(a) 99

(b) ArgTY

() el

(@) 3R

(b) 3@@ .
{c)
(d)
IS Road W ?
%? 3 & AT g
X
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37.

38.

39.
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[G))

.In which one among the following languages |40.

was the ancient Sangam literature
composed 7

(a) Sanskrit

(b) Prakrit

(c) Pali

(d) Tamil

‘Neel Darpan’ was authored by
() Derozio

(b) Bankim Chandra

(¢) Dinabandhu Mitra
Rabindranath Tagore

Sido and Kanhu were tribal rebels of

(a) Odisha

(b} _Assam

{c) Chotanagpur
(d) Rajasthan

Match List I with List IT and select the copfe
answer using the code given below the lig

List I List IT
(Peasant (Pla
struggle)

A, Mapilla uprising sam
B. Phulaguri dhawa arkhand
C. Santhal hool 3. Chotanagpur (42.
D. Birsaite n 4. Malabar
Code :
A B C D
(a) 4 3 1 2
(b) 2 3 1 4
() 2 1 3 4
(d) 4 1 3 2

{10 - A)

Right to Equality under the Constitution of
India is a Fundamental Right. This stands
for

1. Equality before the law and equal
protection of the laws.

2.° Prohibition of discrimination on any
ground whatsoever in publie life.

3. Reservation of seats and posts for

weaker sections of society in
government services and educational
institutions.

Select the correct answer the code given

below :
(a) 1 only O
(b). 2 onlyC)
(c) 3 only
( Gnd 3

ccording to the Constitution of India, India
is a
(a) Union of states
(b) Federal state
(¢) Partly federal and partly unitary state

(dy Unitary state with federal features

Which one among the following was
characterized by Mahatma Gandhi as a
‘post-dated cheque on a failing bank’ ?

(a)
(b)

Cripps Proposals .
McDonald Award
(c) Wavell Plan

(d)

Simon Commission Report



PrefiRe & & fo o W § ok vy wRe

36. 40. WA & WU & s
(@) ¥PA /1 faftr & gy o 3R R & e
(b) wIHd TREOT | ’
(c)  wnfer 2. WK siad ¥ fee o smeR ) @
(d) afE YT B Afave |
, , 3. Wor danh ik dale dwEl § s 6
87. :ﬁﬁ@amaﬁqm? DUSIR anif & e Wt 3R 9a @ e |
(@) R AR} e T @ T AN @R T R g
(b) d<fpw €% e 1
(c) dray i @
d) e iR (b) I 2
. (¢) &acd 13R3
38. 3Rk Brg &l & o fadie & 2
(a) afEem @ :
(b) A
© 3 41, HRA®
(d) TERIH
39. < [& 9oy 11 X gafer e oik gfudi & Al
fw T g Bt FAN IR W IR g Q’ T &
a1 e ) s g ok sivr ToRs ST &
(ﬁﬂ?ﬁ' {I7)
wad) \ (@) o KRl o e e
A, en fade o
B. . EMR eman
C. U & 42, Frafafaa § A 5w v @ #gren e 3 feafcrar
' A ¥ W IR T FTR-feAifeT 9 ¥ TR @
D. faamge o= FART o ?
%
(a) fr wE
A B D
(a) 4 3 1 2 (b) RIS SR
b) 2 3 1 4 (¢c) dad AT
(c) 2 1 3 4 @ B
(d) 4 1 3 2 E
0-DJT-MD-M-HB {11 - A}
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Amnestyxlntematlonal 1s an NGO that
campaigns-for o .:-;_\5_. ~
{a) international peace ~
(b} disarmament
(c) economic cooperation
(d) protection of human rights
44, The World Trade. Organization {(WTQ) is an
international organization which sets the
rules for Global Trade. It was set up in the
year 1995 as the successor to the
(a) General Agreement on Trade and
Tariffs
(b) International Monetary Fund
(c) World Bank
(d} United Nations Conference on Trade
and Development
45. Who among the following is not appoint
the President of India ?
(&) Prime Minister 8 |
(b) Attorney General of India \
(c) Speaker of Lok Sah ¢
(d) Governors of the \Sta
\
46, The Consti

(a)

(b) Cabinet Mission
{c) Mountbatten Plan
{d) Gandhi-Irwin Pact

0-DJT-MD-M-HB

47.

48,

49,

(12 - A}

-

In the context of Democracy, which one
among the following is no# correct ?

On the basis of the means and ends :
In a democracy state is the means and

{a)

welfare of man is the end
(b) On the basis of peoples’ consent
Democracy functions according to public
will

On the basis of rights and freedom :
the rights and

(c)
Democracy safegua
liberties of citiz

of' administration :
Demogfacy 13wfule of one strong man.

(d) On the
Individuals Jlare obliged to obey his

man

L 4
hich one among the following
ries did India sign the ‘Treaty of

iendship’ in August 1971 for 20 years ?

{a} United States of America

(b) Union of Soviet Sncialist’Republics
(¢) Pakistan

(d) China

The geothermal power plant of Manikaran
is located in

(a) Uttarakhand

{b) Arunachal Pradesh
{¢) Sikkim

(d) Himachal Pradesh



mméaNGo%:agﬁmﬁs%u

: 43. 47. wodT $ e T ﬁm%ﬁaa’ir#aﬁqwuasﬂé’r
: ARy T e 2 THE 2. -
: (a) 3RS ify '“(a) reA 3R "eg & YR W -
b Aieaa # e AWeE ¢ 3R A7 B Sean
(b) FREERor qreg
(c) 3T eI (b) e-wEAR % IR W - ,
RICERGICE F IR DY Bl
(d) WM USRI BT TRefor : = X
(¢) 3fEeR 3R TadFdr & R R :
44, fiva IR "R (WTO) Rl v & s RET T
fogg-mRr & fov fraw FeiRa sar & )o@ o
1995 ¥ f&ad) ItRadl & w0 ¥ nfod & 1 ? (d) ¥ & IR W :
ABda Uh wRhamel 21 afp
(a) IR TF WP W AWG Fow IS IR 9T &,
(¢ foweds 48. UF 3 & AT I
Pea— o f 1971fr é?%e A A W EEER
15, Sl # & @, wea & g gR P T @mmﬁm
far SwT ?
@rﬁuﬁw (g 36 difdaa AfRaR
(a) W HAY Rugferra)
(b) WRd & HEAGAE (c_)'qﬁﬂaﬂ
(c) '@ T Heye \ @ S
(d) 54 F TS
46. 9Ra & wfye W ¥ IER oA |49, OG0T &7 s wifts WUF wEf st € 2
DA
: (a) IREES
(a) fopoa fem
b) SR frem (b) ST 5
(¢) wrdedes g (c) Tafdsd
(@) wieh-geiam el (@) FmmEe we
0-DJT-MD-M-HB (13 - A )
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50.

51.

62.

0-DJT-MD-M-HB

s ia
]
-~

Match List™ I*-with .List II and select the

e T we b

correct answer umngttfi'e"'code:g;ven below
P -

the lists :

List I . List I1
(Indian Sea Port) (Feature)
A. Vishakhapatnam 1. Artificial Harbour
B. Cochin 2. Naval Base
C. Marmugao 3. Natural Harbour
D. Chennai 4. Deepest
Code :

A B C D
(a) 1 2 3 4
(by 1 3 2 4
() 4 3 2 1

(dy 4 2 3 1

(a) The Mahanadi Delta

Extensive Mangrove vegetation in Indi
found in I

(b) The Rann of Kutch *

(¢} The Sunderbans

(d)

Which on e following is a form of
precipitation ?

(a) Dew

(b} Frost

{¢c) Sleet

(d) Sublimation _

53.

54.

(14 - A)

Match List I with List IT an.';i select the correct
answer using the code given below the lists :

List I List 11
(State} {Mineral)
A Gujarat 1. Iron Ore
B. Assam 2. Copper
C. |Rajasthan 3. Salt
D. Odisha 4. Petroleum
Code :
A B C
(a) 3 2 4 1
(by 3 4 2
() 1 2 4
@ 1 4 G

Match List I wi st II and select the correct
cPUBIng Qxe code given below the lists :

I List

e position {Date)
he Earth)
phelion 1. 4% July
. Winter Solstice 2. g January

C. Perihelion 3. 21% June
D. Summer Solstice 4. 22 December
Code :

A B C D
(a} 3 2 4 1
(by 3 4 2 1
() 1 4 2 3
d 1 2 4 3

Which one among the following is nof a
tributary of the river Godavari ?

{a) Tungabhadra
(b} Indravati

(¢} Wainganga
(d) Pranhita



50. o I 113 gk S ok gfai 5 |53, T 1@ o 11 Y gt difte sk gt & AR
few e g @ wEnT o 98 IR g féw e T & ym IR e FR e
e n g I g I
(MR ( ) (1547) (@)
ki Gl A. . TRE 1. R IE
A femamem 1, HoW g B. 3=H 2. d™
C. eI 3. T®
B. WM. 2. AR & D. 3R s R
C. WREWN 3. Wplis deme FE
D. o= 4. TIRH | 11)
k3 P
A B C D Q
@ 1 2 3 4 Oﬂ\?‘Y
(by 1 3 2. 4 ” St gt & 9
(c) 4 3 2 1 FR g
g
(dy 4 2 3 1 (fa7i®)
1. 43;5—113‘
, . . 2. 3
51. 9Rd ¥ @we w0 g gt o6 ug S @ p 3. 2158
(a) WETTEr Seel O 4. 22 fFw
(b} HW BT WI & A B c b
(c) ¥=XgA . (a) 3 2 4 1
@ et e | @8 42
| @ 1 4 2 3
(d) 1 2 4 3
52. Frffea d 4 WeuT B 06 TR © ?
55, Fefofaa § ¥ o ve, Maa & & WS
(a) 3 T8 T 2 ?
(b) TR (@) g
(b) Somae
(c) wfew gfic © A
0-DJT-MD-M-H8 {16 - A}



56.

The proportion of gases changes in the higher
layers of the atmosphere in such a way that
oxygen will be almost in negligible quantity at
the height of

(a} 10 km
(b} 50 km
{c) 75 km
(d) 120 km

57. Regur soil is also known as

(a) Laterite soil
(b) Arid soil

(¢) Black soil
(d) Peat seil

58. Which one among the following is the first.
biosphere reserve of India ?

(a) Sunderbans

(b) Simlipal

{c} Manas

(d) Nilgiri '

59. The beginning of a significant private-public
sector participation in road projects was made
in India with the launching of India’s largest
road project called
(a) National Highways Development Project
(b) Central Road Board Project
() Road Development Project
(d}) National Roadways

Scheme

Developmen

60. Which one among the following price inflice

62,

63.

65.

Portfolio investment does nof consist of

(a) Foreign Institutional Investors
(b)  American Deposit Receipts

(c} Global Deposit Receipts

(d) German D'eposit Receipts

Which one among the following does nof fall
undér WTO’s mission ?

(a)

Assist developing countries in its trade
activities

(b) Set rules for trade policy

(¢) Regulate international financial
transactions and markets

(d} Protect small and ker countries

Which one among t

from larger, more power nes

ing regarding the

g 0120
basic objectives of I mﬁ rst Five Year Plan

is not correct ?
(a) EmphasiZed on @griculfural
developme

(b) A buge imports
(c) A @ d price stability
(d) oedled power sector development
one among the following is the
cy of Venezuela ?
( Lira
)}  Peso
(c) Bolivar
(d) Krone

does not indicate net asset value of

(a) Residex \ 86.
(b) Sensex :

{c) Nifty

{d) Wholesale Price Ind

Six industrialized nations had an association
before formation of G-8 Summit. The original
members were U.S., UK., France, Germany,
Italy and Japan. Subsequently two nations

61. Which one among th
recommendation of

wing was nof a
ommittee on tax

joined. The two countries are

(a} India and China

(b) Brazil and South Africa
(¢) Russia and Canada

(d) New Zealand and Mexico

0-DJT-MD-M-HB

reform 7
{a) Removal ious concessions and
exempti
(b} Reduction of import duties on all
.y 67.
commodities

(c) Intreduction of MODVAT (Modified
Value Added Tax) to avoid cascading
effect of indirect tax

Introduction of simplified tax scheme for
small traders

(d)

(18 - A)

What is the colour of ‘Black Box’ that is found
in Aircraft ?

(a) Black
(b} Red

(c) Blue
(d) Orange




56.

57.

58.

59.

60.

61,
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aigied # IR WRat § I B Iqu 39 @e
Faoren & 6 ve Su & 918 sifeiis & e
TG A T E | qE Fa @ ?

(a) 10 km

(b) 50 km

(¢) 75 km

(d) 120 km

T8 geT B 3R g A § T € 2
(a) TICUET g
(b) YD T

{c) DO
(d) U gar

fr=foleaa ¥ ¥ o ve, yRa & wdwem Sadza |

fed ¢ »

(@) e
(b) Foxiua
{(c) TE9H
(dy =R

RA ¥ Fea uRaAemET # wEwyf Fel-adate
8T FEHITAT @1 YR, HRA & B & geaw
g URAT 3R B T gE ?

(a) IR wemnt e aRdsmr
(b) ST FFH A gRAT

(c) He& fawN TR

(d) I TgHurT faer drern

wie & fraa aReufa geo @ Pide T2
(a) IsTT (Residex)
(b) I_TT (Sensex)
(c) TR}y (Nifty)

(d) I I GEIi®

frafafea & & o=
Hfiffer &t fawmier

UR W deerdl

-'armam
W JAT Ied W

(©) e @< % QU wE b uReR ¥ Rw

MODVAT (3refErd Jea-Afad ) & o
T

(d) Br MRl ¥ foe aeliga ax e gw
G

62. uRmIfad fraw e e & 5@ &= ?
(a) faoeht v FRee
(b) 3mRP I
(¢) fagaamd 1 O
(d) FT I e

63. fFmafafga ¥ ¥ 3 s, WwTo & frm & 5

3@ 7,

(a) foomde ot & =% =R Tawag

TR &

(b) =R A & o Fow e s

(c) R fodfm aeAt 3R SRl @
fafrafira &<
Tifthenen 23 ¥ W)

Wﬂ%muaaﬁa

% st B
: B, Te T 8 ?

(d) 3k ftrs

64,

65. ~ra1& i ¥ B W v, e S g ?

EIRIGIES
G

G-8 R @t & oA ¥ g Be i st @
WY A1 | e R US, UK, Wi’ s, g ik
SO & | AR A & I S Wi gu | 3 QY g
PHIE ?

(a) ¥Ra IR I

(b) smie AR afRor e

() w9 3R FmEr

(d) =g aires ik dfemar

67. TIREUT ¥ W FM 91a ‘@ afdg’ &1 10 adr g
e

(a) Bre

(b) @

(¢) e

(d) =M

(17 - A
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69.

70.

71.

72.

0-DJT-MD-M-HB

Which India-born biologist bagged the World's
first International award for outstanding
scientific werk that promotes sustainable
development. globally 7

{a) Vandana Shiva
(b) Medha Patkar
(c) Kamal Bawa

(d) Gyalwang Drupka

Who among the following was recently
honoured with Dadasaheb Phalke Award
(2011) ?

(a} Soumitra Chatterjee

(b) K. Balachander

(¢} D. Ramanayudu

{d) Supriya Choudhury

Who among the
Templeton Prize
contribution to
dimension” ?

following received the
in May, 2012 for his
“affirming life’s spiritual

fa) Desmond Tutu
(b) Dalai Lama

(c) Anna Hazare
(d) Baba Ramdev

Which State Government has

(a) Jharkhand ‘
(b) Chhattisgarh

(¢) Madhya Pradesh
(d) Odisha

7/

Consider the following
1. A road has bee

India hock Dhyanchand in
Australia.

2 Australia een selected as a host
count Commonwealth
Games

Which of the above statements is/are correct ?
(&) 1 only

(b) 2 only

{c) Both1land?2

(d) Neither 1 nor 2

73.

74.

75.

(18 - A}

With reference to National Rural Health
Mission (NRHM), which of the following are
the jobs of ‘ASHA’, a trained community
health worker ?

1, Accompanying women to health facility
for antenatal care check-up.

2.  Using pregnancy test kits for early
" detection of pregnancy.

Select the correct answer using the code given
below :

(a) 1 only
(b} 2 only
{c) Both1and?2

‘(d) Neither 1 nor 2

Consider the folloe ents :

1.  United onswPliblic Service Award
has recently bden won by Uttar Pradesh
Governm for enacting and
ipfplémenting for the first time in the
@ a Public Services Guarantee

Act guaranteed the delivery of basic

ublic services to citizens within a fixed
time limit.

ahich of the above statements is/are correct ?

recent
imposed restrictions on the visit of for
tourists to the areas inhabited by tribalg ?

(a) 1 only

(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2

Consider the following statements : °

1. The National Telecom Policy 2012 seeks
to abolish roaming charges.

2. The Policy allows
portability as well.

national number

Which of the above statements is/are correct ?
(a) 1 only

(b) 2 only

{¢) Both1land?2

(d) Neither 1 nor 2
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@

Rreqemdt & ¥ aRvir Riem @1 ol B O
Ipe defe o & fore fea @ wdwem sierig
R W@ A qer/aet 9Ra A srAy/e=
Shadafs o & 2

(a) g Rran

(b) e UEaR

(¢) oA 96T

(d) TS bt

g & # Fafafea 4 @ foua deaee o
TR (2011) & wATd fosam mam 2

(a) difF Tt

(b) ®. FeTdeR

() & IAERE

(d) g drerd
fafolea & @ o “SAaa &
o g # I dreE %
ST ISR 91 fbar 2

(a) STHE TG ‘

(b) &g FT :
(c) 31 &R

qaT I

Sl a &Et A faeeh wdedl & A w e A 6
o 35g WeR 3 wftdy e &€ 7
(a) FRGES

(b)

anenfens A
1%11? s 2012 o

(c)
(@)

73. KR THOT W@y fTeE (NRHM) § el A,
yffera Wy &wd, ‘ASHA, &
frefffea i I Iod € ?

1. wwagd s ¥ fe e @ @ma g

6 of ST |

2. e & yRiis TyEe & e wmiar wao
. fove @1 s &< |

S 2 T BT BT wAT @R FE IR g

(a) &ae 1

(by e 2

(¢ 1323

(d) Ad@1T82

74.  freflEa ool w

1. s@a A {9 29§ wdwm
Ad stttan  sffafia sk
asmﬂ%ﬁa fere wgw g de [

|
9 TRat B EaRId S
o Tl 9§ wem e & TRE
R A AP A I & o
B 1

(b) had 2

(@ 13k 2t

(d) Far1a82

Frafefaa sonl W R 9w -

1 U REEr Afd 2012 3 A R @
e & BT YT e ¥ |

2. 3@ A ¥ TR B I gagdar 9 s
Bt & |

Judes weHl § ¥ B W a8 e

(a) &ad 1

(b) ad 2

() 13K 2

(d) ANM1TE2

{19 - A)
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77.

78.
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PART B

Which among the following was the first
private sector establishment to get CISF
security cover ?

(a) Infosys Campus at Mysore
(b) Infosys Campus at Bengaluru
(c) Reliance Refinery at Jamnagar

(d) Electronic City at Bengaluru

CISF is providing security to private sector
enterprises on the basis of

{a) Access control only

(b) Access control and force

deployment

response

{(¢) Response force deployment only

{d) Total responsibility of access control,
perimeter security and response force
deployment to secure the enterprise

Which one of the following reflects correttl
the meaning of the statement “Industri

Security is a dynamic concept” ? \

{a} Every senior officer 5\ hispy own
perception and ide change.
principles of industri ity

{b) Government’s of industrial

security vasi om time to time

(¢} Security irements and threat
perception vary according to place and

time

(d}) Officers handling
change frequently

industrial

security |-

79,

80.

82,

(20 - A}

When CISF is to be inducted in the private
sector priority is given to

(a) units located in cities
(b) u_nits located in remote areas
{c) units located close to the border

(d) units located iIn
affected or vulnerable areas

naxal, militancy

Which one of the following i
of the members of the force ?

not the duty

(a) Look after the nge

of the command @
(b) Obey and g£xecute™gll orders issued to
him by his‘\supezior authority

{¢) Pro ntk safeguard the industrial

equirements

er

nae g

( ct and safeguard the employees of
industrial undertakings

ich of the following is/fare natural

disaster(s) ?

(a) Floods

(b) Fire

(c) Drought

{d) All of the above

Who i$ the chairperson of National Disaster
Management Authority ?

{(a) Union Home Secretary
{(b) President of India

{¢) National Security Advisor
(d) None of the above




76.

77.

78.
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i B

ﬁﬁ&ﬁa%ﬁm‘%ﬁ%uﬁwﬁfﬁ%ﬁwﬁ%ﬁ
9. 378, 0.0, o JREA T g P

(a) MR @ Fofe iR
dmere e TR o’
TR fem Radg & doeius SRE

e B goEiiE R

(b)
(c)

(d)

<518 TH.uw. Tl dm % wfRrom @ 6 s
UR GRETT 9EH Rl § P ‘

() paw i Frior

(b) 3firm Fraor wd sefear aa aRfdeE
)

(¢) e 3rffran act uRFAH

@) wEeE @ wen » fw ofmm FrEo,
oRe wRen #R srEfpar q@ aREEISH @
FRaTE

“3itefie TReN v TfcRie a8, 3 BT
frefefaa & & @ wdr ardf # wicfefiam

(a) T aies FSR & 39 N9 ‘Fainx—m

2 B shafie e & RO TEd
#

(b) e Rem yrrfrat
TG R &

() W IR T YRE T FHRA
3R @Rl &1 dver agerar gl @

@) siafie gRen @ TR WA el SR
TSR gaETy e ©

79.

80.

82.

fron & A3 w. U, &) TR ok 9 [5R
smrfireear < S & ?

yiest ¥ e sodl
Hexadt &t i Rua o
Iy & ™y e gargat

FAGH, IUGE yileE ruar sRpREE e A
frra g@al

R Y T e, @ & I @I B
T8 & ?

(a)
(b)
(c)
(d)

(a) TAM MEBER D 3R savasani
B g BT

3 IR At

) [ 3eE & e vd

¢

(c) P oo ReT 3R wRan

yfreml % sdaRal @ Rem IR
Y& AT

frafafea § 4 39 W0 wiglas sl 778 ?
(a} 4§
(b) 3w

(¢) @i
() IR fcofEa af

TS 3T FEE ST B seas B ¢ 2
(a) S=a € A
(b) WRA & gafd

(c) SIS FREM AAEDR
(d) 3Iuges d | B8

f 21 - A



83.

84.

85.

86.
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(e} contact NGOs for help

During floods the first thing force personnel
should do is to

(a) arrest the eriminal elements first

(b}  wait for senior officer to arrive

(d) immediately take action for rescue of
persons surrounded by flood waters

Which one of the
poisonous snake ?

following is not a

(a) Cobra
(b) Krait
(c) Viper

{(d) River snake

During fire disaster the first duty of police |89

officer is to

(a) take precaution to prevent spread of fire

(b) infc.)rm and wait for senior offi Q
arrive l

(¢} ecollect all the property at ON

(d) console all the victi re ¢

Which is the re

of aviation security

in India ? 90.

{a} Minist vil Aviation
{b) Special Director General CISF
(c) Bureau of Civil Aviation Sécurity

(d) International Civil Aviation
Organization

87.

88.

{22 - A}

TIPS software i§ wused in the X-BIS
machines during the pre-embarkation checks
to

(a) detect nuclear material

(b) detect all"types of explosives

¢) monitor the efficiency of the screener

{d) None of the above

Which iz the designated Civil Aviation
Security Regulatory AutMbrity in India ?

(a) DGCA

(b) BCAS O

(c) AAI C)

(d)®.

Y nd that the baggage of the passengers

hecked at the entry point of ‘the
términal building. Which security plan is
adopted at that airport ?

(a} Hold area plan

(b) Concourse plan

(c) Boarding gate plan
(d) None of the above

At the airports, which agency carries out
the Secondary Ladder Point Check ?

(a) CISF
(b) Local police

(¢)  Airlines security

(d) Ground Handling Agency



83.

g % dRM a6 % DH® B Fad Ug a1 BRI
ofee ?

(a) FTRIE awdl @ 969 UE FRER BRA

BTy

R HEES B 5T S THET B aifee
fe-wwed 9l ¥ werma & e wad
w1 afer

TG & T ¥ R Al o sum $ foe BikA
FIAE S IRe

(b)

(c)

(d)
84. Pretferiam ¥ & ol sreien Wia A @ 2
(a) BRI
(b) H@
() dIEW
(@) &rad

ST ot BT 3 R g I @ vee e
FaTE ?

(a) 3 @ B A Ao B @G S
(b) aie e & gim &R S
(¢}

TeT &l

AR FHFAT B T WH R A
(@ 99 TRl & awE
wﬁmm@:wmb
(a) '
G317 0.0, & R HerRed

(¢) =R oA Ram &R
(@) IR ARe fuee e

85.

@

86.

b)
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87. X-BIS miHi # TIPS Hiweday;. mgéaraas.

2R fow fore wges Ben @ ?
(a) =T verl & HgET G,

T e ¥ Frwesl $ HYEE &g
TR @ gea B "R HH 8g

IR<E A A B3 A

()
(c)

(d)

88, wRa i ARk fam ren Frame e & w9

¥ o AR & ?

(a) DGCA @
(b) BCAS O

(&) AAI

(d) AITA C)

¢

89. am ngﬁm‘&swaﬁaﬁﬂﬂm
& it o o & | g I W B W

3o e & 2
%Wﬁ(@ﬁeﬁm}m
(b) STHEE AT
(c) maﬁ(aﬁ%ﬂﬂa)m
(@ 3w A F S A

90. wmE @ W Tdw Wow S BF @

e & ?

.30, 0.

I gfers

TOLEE S RaT

e Frogr )T (U30s dusfer Tai)

(a)
(b)
(c)

(d)

{23 - A}
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91. Which of the following is/are essential for field [96. Which one among therfolloWing is installed as

.craft ? a covert system in Perimeter Intrusion
ion ?
(a) Understand the layout of the land and Detection ?
identify shelters {a) Taut wire
(b) Create shelter where it does not exist (b) Electronic fence

for taking position (© Buried cable

{(¢) Knowledge regarding the weapon and
its effective use (d» CCTV system
(d) All of the above #7. Which one of the fllowing iware used fo

. ] . perimeter security ?
92, While making an “Observation Post”, which

one of the following is most essential ? (a) Intrusion detection device
(a) Select a place from where you can see (b) Power fence
but you are not visible (©) Taut wire

(b)  Your observation post is lower than the

area to be observed (d) All of the abg

(c}) Ignore important landmarks

(d) Do not look here and there 98. Which one g¢f the following figencies is the
; clear activities in India ?
93. What is field craft ? Fpagtment of Atomic Energy (DAE)
(a) Understanding of the field where you Energy  Regulatory Board

are deployed
nternational Atomic Energy Agency

(b) Craft for drawing the map of the field
(IAEA)
(¢) While protecting and securing from fire ] .
arms, taking position behind prop@ d) Nuclear Power Corporation of India
man-made/natural shelter and Limited (NPCIL)

your fire arms effectively
(d) None of the above 99. The Exclusive Zone in a Nuclear Power Plant

(NPP) from centre of a nuclear reactor is

94. In its day-to-day work, CIS aigl deals {(a) 06 km
with (b} 11 km
(a) Espionage {c) 16km
fb) Sabot&age (d) 21 km
(¢} Subversion

(d) None of ove 100. Habitation is not allowed in the Exclusive
Zone around a Nuclear Power Plant (NPP)
95. Difference betwéen a contact and a source is mainly because of
(&) contact gives routine information (8) Radiological reasons
. (b} source gives inside information (b)  Security reasons
(c) contact is mentioned in the register (¢) Disturbance to scientists
(d) source is formally paid and registered (d) All of the above

0-DJT-MD-M-HB {24 - A
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92,

3.

94,

95.
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Brffiae # 2 o, g 3% e amaeas 78 ?

(a) S & @ 9uE iR el o fufga

ST

st @ % fée, ans SueeT 7 dF W IS
it o=

(© e ERER) & sRF 3R 9% R
TR & IR ¥ TEGR! @1
(d) 3ITGH T

Yegor Al s g, Fefefea & 2 o @ o
e WGYaFD & ?

(a) U SR G e A 3N Tw ¥ fog am

(b)

formrd = 3

(b) PR W IV arl SR F P deor =i |

fraot 'R R &
(¢) wewayel sl Froms & 3tem &
(d) FR-FR T A

yrag g ?
(a) FE 39 9 & 39 FTHE @ quE
(b) WM & IR IR & B BRI

(¢) ammrEl ¥ Rem AR osEE WA g
- srar e angl ¢ G dwehRe
T g A FARA BT GHTET gl

@ IfE B T

mﬁm%mﬁ'@r.m.w.w.\'

feog-fow & qerE wgan @ ? R

(a) . SRR

(b  dis-Bg

(¢) &9

d) IHEAY

w0 3R g7 & Wb 8 P

(a) TOd JomRl & o aar @

(b) 9T IR B G & @
(¢) |wd & 9 Mot} ¥ = A &

(d) 9 Uoiipd dar & 3k 3 faftraa yar fean
EIGIES

96.

97.

98.

100.

{26 - A)

FrfeRaa 4 ¥ 6 oftfy gats @1 & foe q@
9 & g i g fear S @ P

(a) @ @R (Ce TRR)
(b) FATI a3

(¢) ST B3 R

(d) W.AHAT. IR

R wen & foe Frafolaa & @ fow @ @
T e 278 ?

(a) Y&is @& giw

by FaSeh @ 13
{¢) o dR (fc aR) :

yrarg Tfica oife Fw fafds (NPCIL)

AR FA §9F (NPP) § 3= &7, e
fRrr S P APt QR 2 ?

(a) 06 km
by 1-1 k.m
(¢} 16km
(d) 21km

TS Fot §IF (NPP) & IRI RS 30 &7 §
At @ T e SR § &9 T o S ?

(@) Fafeor fuftee-damfe ool |
(b) IR&T BRON §

(¢) dsnfeest &t FHrdaren BRul A
() IRfH il HROT
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In a Nuclear Power Plant (NPP), Perimeter
Intrusion Detection System (PIDS) is put up
at

{a) Exclusive Zone

{(b) Main Plant Boundary

{c) Waterfront

{d) Operating island

Intelligent camera in* a CCTV system

performs  which one of the following

functions ?

(a} Identifies a potential threat by
. measuring his intelligent quotient (IQ)

(b) Identifies a potential threat on the basis

of pre-determined behaviour patterns
(¢) Spots an un-identified object
(d} None of the above

What is the meaning of “Graded Access
Control” in a vital installation ?

(a) Access is granted depending on the pay

grade of the person
(b)

Access is granted only on the basus of
need to have an access to

installation

(c)

For very vital installations,
personnel having higher pay

to guard it \
given to Various

(d) .

These are grades
installations

“Video Analytics” is
(a)

(b) Analysis of thermal imaging camera
‘pictures by contrel room in-charge

(¢} Computer software which analyses
images of CCTV

(d) A tool used for productlon of catchy

videos for MTV

105.

106.

107.

8

109.

1110.

{26 - A)

(a)

Which one of the following is the most
advanced form of biometric system 7

(a)
(b}
(c)
(d)
TIP software is installed in X-ray Baggage
Inspection System (X-BIS) to

(a)

Iris print
Palm geometry
Finger print

Foot print,

help screeners increase throughput of
X-BIS

decrease radiation levels

(b)
(c)

help screeners increage clarity of X-ray
images '

(d)

help screeners
alertness

efficiency and

The Door Fpame
are designed
(a) Irom

etal Detectors (DFMDs)

ad and aluminium objects

(b) dhd non-ferrous metals only
(c aluminium, ferrous and
on-ferrous metals
ad, aluminium, ferrous and

non-ferrous metals and metallic alloys

omb blanket and bomb basket are

(a) detection equipments
(b) disposal equipments
(¢) Both (a) and (b)

(d) Neither (a) nor (b)

Non-Linear Junction Detector is used as an
equipment of which one of the following ?
Perimeter Security

Bomb disposal

Access control

None of the above, as it is used as an
equipment of railway safety

{b)
(c)
(d)

Which one¢ of the following equipments is
generally used for real time detection of
semi-conductor devices, buried underground ?

(a) UVSS
(b) ETD
(e HHMD
(d) NLJD
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(b) ETD

(¢) HHMD

(d) NLJD
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Sample collection to check the presence of
explosives is carried out by

(a) surface wipe for trace particles using
filter unit

(b) surface wipe for vapour using filter unit
(¢} air.collection for trace particles

{d) All of the above

Remotely Controlled Vehicle (RCV) is used in
(a) conducting experiments on other planets
{b) bomb disposal

(¢} conducting surveillance

(d} All of the above

Which one of the following is the highest
category protectee ? .

(a) Z category protectee
(b} Z* category protectee
(¢) SPG protectee

(d) CISF protectee

A CISF officer who is in-charge of security of
a Z* category. protectee opens fire in order to,
defend the protectee from an imminent att

Under which of the following is such ac
justified ?
(a) Blue Book \

(by CISF Act
2
(¢} MHA Instructions
{d) Provisions of Right te Defence

In respect of duti
election at the
following i

ce personnel during
booth, which one of the-
ct ?

(a). Making theVvoters stand in a queue
(b) Ensuring peace at the polling booth

(¢) Ensuring security of polling parties and
polling boxes

(d) Help voters of a particular party

118.

117.

118.

119.

120,

(28 - A)

While briefing personnel going for poll duties
what should not be done ?

(a) Brief them about their duties

(b} Brief them about the local law and
order problems

{(c) Brief them about any extremist, naxal
problems of the area

(d) - Encourage them to collect voters on the
date of voting

During election duties which should net be
done ?

(a}) Give proper attention to maintaining
law and order in the a

(b} Election publicity

100 yards of polling
(c) . If a voter is alpractice to cast
j dé'be brought to the

his vote sl
notice of(presiding officer
(d) Give attenti 0 securing your arms

L 4
nthe Internal Security duties, the
CI awe its powers from

F Act

Central Government

wed beyond
0

State Government
(d) None of-the above

In conducting major elections in India, the
final decision in important matters is given by

(a) the Central Governm_ent
(b) the State Government
(¢) the Returning Officer
(d) None of the above

In VIP security, vehicles move in a box
formation because

(a) the face of the VIP should not be visible
to an attacker

{b) no other vehicle should be able to
approach the VIP vehicle

{¢) nobody should be able to fire at the VIP
(d) None of the above

Y
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121. An ‘Unlawful Assembly’ can be dispersed by
i+ CISF

{a)
(b)

on its own

when deployed on Internal Security
duties

on order from the SHO

in none of the above situations

(e
(d)

122, Under CISF Act, CISF can arrest a person

when

(a) the person does anything illegal

(b) the person obstructs CISF in discharge
of its duties

(¢) the person commits an accident with a
CISF bus

(d) in all the situations given above

123. Under CISF Act, CISF personnel have powers

of personal search

(a)

of any perscn

(b) of any person during access control
() of a person after he is arrested by it
under CISF Act ’
(d) in all the situations given above
124, Under the Section 25 of the Indian Evide
Act
(a) confession before a Polic Of&c be
proved .
(b) confession before Pali fficer can
not be proved
(c) confession befo agistrate can be
proved
{(d) None of ve
125. Dying declaration is a statement made by a
person
(&) about any matter

(b) =about a criminal offence
(c) about the cause of his death
(d) All of the above )

0-DJT-MD-M-HB

12'6. Section 45 of CrPC relates to

(a) arrest by a member of an armed force
‘when on duty
(b) arrest of a member of an armed force
for anything done during discharge of
official duty
(¢) arrest of a member of an armed force by
a Magistrate
(d) None of the above
127. Under law, CISF personnel can use physical
force to -
(a) break a strike in an undertaking
(b) prevent an em rom teasing
females
(¢) prevent dam to property of an
undertaking .
(d) in all the aboye cases
128. Disci % pdwers under CISF Act provide
fo
a) ismigsal of CISF personnel

ischarge of CISF personnel
6) confinement in the cell
(d) All of the above

129. Salary ‘under the Workmen's Compensation
Act can be fixed of

(a) workers including CISF personnel
posted in an undertaking

(b) managers and workers of an
undertaking

(c) only managers of an undertaking

(d) None of the above

130. Industrial Disputes Act deals with

(a) disputes of one undertaking with
another

(b) disputes between the managers of an
undertaking

(c) disputes between the labour and the
management

(d) disputes between the labour unions

(30 - A}
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In a preliminary enquiry, the statements can

i

be

(a) oral

(b)  written and signed

() only written but not signed

(d) All of the above

In a departmental enquiry, a defence 137.
assistant is chosen .

(a) by the department for the defence

(b} by the charged official

(¢} by the enquiry officer

(d) All of the above

After arresting a person, CISF hands him to
police 138.
(a) after conducting investigation

(b} after 48 hours

{c) after recording his confession

{d) Ncene of the above

Confession before police which
recovery of case property

{a)
(b)

(c)

(d)

A cognizable case i

(a)
(b)

(c)

(d)

leads to

is hit by Section 25 of the Evidence

can be proved under Section 2

Evidence Act \
In  the presence of a

has to be
magistrate *

None of the above

140.

can arrest with a
Court

in which
warranfyfro

in which poMce can arrest without a
warrant from the Court

in which police can arrest after taking
permission from their Superintendent of
Police

None of the above

(32-A)

136. The part of the computer \;iher_e data being

processed can be written to and read from is
(a) ROM

(b) CPU

() RAM

(d) Disk drive

A window that appears on the screen with a
message and requires response from the user
is

(a) a pop-up menu window
(b) a status-bar window

(¢} a dialog box windo

(d) an information O

Information is

(a} a collectiom\of pAiw facts and figures

marized data that
cision making

is’ useful for

hetever requirements the client
describes to a software professional

Firewall software is used
(a) for increasing the browsing speed
(b) for protecting the computer screen

(¢) as an anti-virus program

{d) in all the above cases

What is ‘ethical hacking’ ?

(a) , Hacking done by people with high level
of ethical values

(b) Hacking done after warning the owner
of the computer '

(¢} Checking of security of own computers
to find loopholes for removing them

.(d) Hacking done by people who donate

money obtained from it to charities

.
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Important data should be transmitted through
which one of the following methods for it to be
secure ?

(a) Any NIC based servers

(b) Any private server but only at night
(c} Only through physical transmission
(d) None of the above

The term ‘anti-virus’ used with reference to
computers is

(a) a hardware part fitted to hard disc

{(b) a program  which detects and
neutralizes harmful programs

(c} a vaccine periodically administered to
frequent computer users

(d) a spray used to clean computers on a

daily basis

Files can be saved on the computer in the

following places : 148.
(a) C-drive only-

{b} V-drive only

{c) H-drive only

(d) All of the above

Which one of the following is not
hardware ?

(a) Optical mouse @
(b) Windows 7

(¢) CD-ROM drive \ 149,

(d -COmputer hard disk

Consider the following s

1. A computer ¢
others has

faster than
d disc capacity.

works faster than
ter processor speed than

Which of the above statements is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

146.

147.

150.

{34 - A}

)

Joint survey for induction’ of CISF in an
Undertaking is done by

(a) Commandant and DIG

(b) CISF and District Magistrate
(¢) CISF and Management

(d) MHA and Management
“Enrolled member” of the force means

(a)

a member of the force recruited by -
Commandant

(b) a member of the force recruited by
UPSC

{¢) a member of the ited by SSC

(d) any subordinafe e’ Under Officer or
any other mem of the force of a rank
lower th hatvefan Under Officer

Under

Ru‘ es 2001, force will consist of

e branch and ministerial

(a)
only

xecutive branch, fire service branch
and ministerial branch

Director General and other ranks

(d) Subordinate ranks

The head of the CISF is

{a) Home Minister

(b) MHA

{¢) Home Secretary

{d) Director General

Which is mno# a major penalty under

Section 34 of the CISF Rules ?
(a)
(b}
(c)
(d)

Dismissal from service
Removal from service
Withholding of promotion

Compulsory retirement
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